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Impartant Instructions:

1.

The Answer Sheet is inside this Test Booklet. When
vou are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on ORIGINAL
Copy carefully with blue/black ball point pen only.
The test is of 3 hours duration and the Test Booklet
contains 180 multiple-chaice questions { four vptions
with a single correct answer) from Physics, Chemistry
and Biology (Botany and Zoology).

Wherever the symbols/constants are not mentioned, they
are to be considered as per their standard meaning/
value.

Each question carries 4 marks. For each correct
response, the candidate will get 4 marks. For each
incorrect response, one mark will be deducted from the
total scores. The maximum marks are 720.

Use Blue/Black Ball Foint Pen only for writing
particulars on this page/marking responses on Answer
Sheer.

Rough work is to be done in the space provided for this
purpose in the Test Booklet only..

On completion of the test, the candidate must hand
aver the Answer Sheet (ORIGINAL and OFFICE
Copy) to the Invigilator before leaving the Room/
Hall. The candidates are allowed to take away this

Test Bookler with them.
The CODE for this Booklet is **46". Make sure to
enter this code in the OMR answer sheet,
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Do not open this Test Bookle

0,

1.
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14.
15,

{ until you are asked to o s0.

This Beoklet contains 32 pages, including Rough Page.

The candidates should ensure that the Answer Sheet is
not folded. Do 'not make any stray marks on the
Answer Sheet, Do not write your Roll No. anywhere
else except in the specified space in the Test Booklet/

Answer Sheet.
Use of white fluid for correction is NOT permissible

on the Answer Sheel.

Each eandidate musl show
Admit Card to the Invigilator.

No candidate, without special permission of the centre
Superintendent or Invigilator, would leave histher seat.

The candidates should not lcave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign {with time) the Attendance
Sheet twice. Cases, where a candidate has not signed
the Attendance Sheet second time, will be deemed
not to have handed over the Answer Sheet and dealt
with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of this examination along with Public
Examinations (Prevention of unfair means act 2024),
No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

The candidates will write the Correct Test Booklet Code
as given in the Test Booklet/Answer Sheet in the
Attendance Sheel.

If & candidate marks more than one answers for a
question in the OMR Sheet, it will be treated as
incorrect and negative marking will be applicable.

on-demand his'her
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A physical quantitg P is related 1€

wbservations g, h, ¢ and o ns follows:
hd

Peawliedq L

The percentage errors of measurement i “
€ and o are 1%, 3%, 2%, and 4% mEPﬁfw‘:I}J'
The percentage errorinl the quantity P is

() 2% (2) 13%

(3) 15% (4) 10%

The intensity of transmitted light when a
polaroid sheet, placna_! between two ‘crnssc.d
polarcids at 22.59 from the polarization axis
of one of the polaroid, is (T is the intensity of
polarised light after passing through the first
polaroid): .

ID fﬂ
3 2 e
Iy g
3 16 ) 2

ry
A 2 amp current iqt"flnwing through two
different small circular copper coils having
radii ratio 1:2. The ﬁail’n of their respective
magnetic moments will be
(1) 1:2 (2) 2:1
(3) 41 i:‘»i? 1:4

[
Consider the diameteriof a spherical object
being measured with'the help of a Vernier
callipers. Supposefits 10 Vernier Scale
Divisions (V.S.D.) are ‘equal to its 9 Main Scale

Divisions (M.S.D.). The least division in the

M.S. is 0.1 cm and'the zero of V.S. is &t

x=0.1 cm when the jaws of Vernier callipers
are closed.

If the main scale reading for the diameter is
M=5cm and the number of coinciding
vernier division is 8, the measured diameter
afler zero error correction, is

(1) 5.08 ¢m. (2) 498 cm

(3) 5.00em (4) 5.18 cm
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A photon and an eleetron {masg

the  same  energy~ F, The
e ]

" j i
1 'r..

(J‘hphntnnf(lelcctmn] Ofl their g, By

wavelengths is: (¢ is Ihg-_spccd of Tighy,

I -
(3) ;1.;' 2m HEI %m

T=
|

() e2mE

i oy
Pe—ngl:e wavelen g”l"?;f an electrop Orbitiy
in the n = 2 state of hydrogen atom s Cloge ,
(Given Bohr radius = 0:052 nm) v
(1) 0.67 nm 2y 1.67 nm

§=d

(3) 2.67 nm [éﬁ 0.067 nm

An unpolarized light beam travel|
incident on a medium QT.rcFractiu
at Brewster's angle. Then-

ing in air s
¢ indey | 7

(1) reflected light is '?p:?nially polarized g

the angle of ref‘teé}ﬂzn is close to 3q0
iy

(2) both reflected and-transmitted light are
perfectly polarized with angles uf
reflection and refraction close 1o 600 4y
30°, respectively.

(3) transmitted light is completely polarized
with angle of refraction close to 300

N .

(4) reflected light is completely polarized and

the angle of reflection is close to 607
0
T : %,

The kinetic energies elfj_xyn similar cars A and

B are 100) and 223.J respectively. On

applying breaks, car Astpps after 1000 m and

car B stops after 1500 m. If ¥, and F; are the

forces applied by the breaks on cars A and B

respectively. then the ratio F /F, is

2 |
M 3 2) 3
| 3
(&)) - (4) 3

| Contd-
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r\.l wire ol resistance R is cut inta 8 equal

m,;.r._-g, From these niur:'_p'sl Lwo uquivu‘:ﬁm

resistances are made by 1fd'¢.'ﬁng four of L“E

ogether in parallel, Then‘-thcsc two sel':]:?;
5

ndded in series. The net :
T effective resjst:
the combination js - Pt ance of

L
" e
(n - R
32 ) 3%

i
3 = gy
g (4) 64

e |
An oxygen cylinder of wr'u;iun'm 30 litre has
18.20 moles of oxygen. Af"lfnl:r some oxygen is
withdrawn from the cil_i:nder, its pauge
pressure drops to 11 aimésﬁhuric prcﬁsuré at

temperature 27°C. The mass of the oxygen
withdrawn from the cylindef'is nearly equal to;

100
I2
molecular mass of O, = 32!

| atm pressure = 1.01 = J03 Nim]

[Given, R = J mol 'K, and

(1) 0.144 kg (2) "ﬂj,l 16 kg
(3) 0.156 kg () :.p’:,mﬁ ke

i
I a certain camera. a dombination of four
similar thin convex lensesare arranged axially
in contact. Then the power of the combination
and the total magnification in comparison to
the power (p) and magnification () for each
lens will be, respectively =
(1) p4 and 4m (2) «4p and m
(3) p*and m* (4) EI%? and 4m

RS |

LE) )
AB is a part of an electrical circuit (see figure).
The potential difference= 1V, — Vg, at the
s nstant when current i =2 A and Is increasing
al a rate of 1 amp / second is:

111 5V 20
(1) 6vol (2) 9volt
(3) 10vol (4) 5wvolt
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A body weighs 48 N on'the surface aof the
carth. The gravitational force experienced by
the body due to the carth at a height equal to
one-third the radius of the carth from its
surface is ;
(h 27N
(3 36N

@) 32N
(416 N

A full wave rectifier cireuit with diodes (D)
and (D) is shown in the figure. If input supply
voltage Vi, = 220sin (100 1) volt, then at
t= 15 msec ~

L

=y
§

in

Rr

o

()
@
(3)
)

D, is reverse hiﬂs&t{f:'ﬂz is forward hiased
1} and D, both arﬁi’mrward biased

Dy and D, both are teverse hiased

D, is forward hi-};.%e.d. D5 is reverse
biased

Two cities X and Y are EEﬁnccted by a regular
bus service with a bus leaving in cither
direction every T min. f;:girl is driving scooty
with a speed of 60 km/h'in the direction X to
Y notices that a bus ’_ﬁ_ﬁes past her every
30 minutes in the direction of her motion, and
every 10 minutes in lh:l.:.lt}ppcsilc direction.
Choose the correct option for the period T of
the bus service and the speed (assumed
constant) of the buses,

(1) 25 min, 100 km/h

(2) 10 min, 90 km/h

(3) 15 min, 120 kmv'h

(4) 9 min, 40 km/h

| Contd...
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o In
he Sun rtates around its ,..L-nl_r': 11“iLli;izlulu
27 davs, Wit Will be the period of ru.wr-::*:unl
i the Sun were o expand to twice 1!:“'{“;“}“1;:
adivs withour any external inﬂunncc-. :w
the Sun 1o be ,'f'zqf‘hurc of uniform densit)

(1) 105 days (, (2) 115 days
(3) 108 days- i 4) 100 days

res ] nctic‘
The electric field in a plane electromag
wave is given by

E_ =60cos {S.ri-];'.rj.jx I{J‘j-‘fli-’ fam

_ din
Then expression for the cnrrcspﬂ':e Eh-f
magnetic field is’(here subscripts deno

- " L ]
direction of the field) :

- q
) B, =210 cos (5x+1.5x10°0T
Q) B. = 60cos (5x+1.5x10°0T

() By =60sfn'(5x+1.5%10°NT
it
() B, =2x107 cos (5x+ 1.5x 10°AT

L |-‘;.

Twao identica!réhargcd conducting spheres
A and B have their centres separated by a
certain distance, Charge on each sphere is q
and the force of repulsion between them is F,
A third identical' uncharged conducting sphere
is brought in Emhtncl with sphere A firgt and
then with B ang finally removed from both,
New force of r@_ﬁulsi:}n between ¢ pheres A and
B (Radii of Aand B are negligible compared

1o the dis!an_-:;f of separation 0 that for

calculating force between them they can be

considered as poing charges) is beg Biven gs .

I
(1) = F
3 (2) 5
3
i iF
3) B (4} *g—
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An ecleetrie dipole with dipale Moy,
§ « 100 Cmis aligned with he direey; M y
i Mop,

L
gnih.l:]
ﬁdTh“}uw'

-\.r.
I

al Em’rgl-f Elf[h:

uniform electric field of -
4 = 103 N/C. The dipole is then rotat
an angle {'rf‘;:ﬁ{}" with respect 1
field. The change in the potent;
dipole is : |

By L5 (4) 0.8

. ; -4 % 3 ‘
A microscope has an objective of focal |=:13Ls.

nd the
diSliﬂq
Cation the

2 cm, eyepiece of focal length 4 ¢ 4
tube length o'i"_:l.i_{{} em. If the distange of
vision of eye 1525 cm, the magnifi
microscope is

(M 125 & (2)
() 250

150
100

#mo 1
i 55

The outpu_;': (Y) of the Eiven
implamentat_i@'}_h is similar to the output

logic

of g

a ghﬁ! i

[ Confd
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12 A umiform rod of mass 20 kg and length 5m | 25 Which of the follawing options represent the
leans apainst o smooth vertienl will making an
angle of 60% with it The other end rests on a
rongh horirontal Noor. The friction foree that
the Noor exerts on the n?d!is (take g= 10 m/st)

varintion of photoelectric current with property

of Tight shown on the X-axis?

]
|

(1) 100N (2)"211{}7@ B
' 5 g X
L T .
(33 20043 N (4, 100 N i g = P-
v - 0 - 5

Intensity oflight 4

23 The current passing through the battery in the
given eircuit, is:

-
3 -
% ) 2
2 =y
s O Y
550 B. E 3

d

0’ e TP
Intensity n!‘f ght
|

=
= %
o i
(1) 054 @), 254 5
(3) 154 (@)] 204 c 2 2
od 0 ~ >
O Fraquum:yf:}!‘ light
24 A model for quantized-motion of an clectron :I
in a uniform magnetic-field B states that the E—I
flux passing through the orbit of the electron
is n(hle) where n is nnrjintegcr. h is Planck’s
constant and e is the magnitude of electron’s £
charge. According to the-model, the magnetic -4

moment of an electrofifin its lowest energy

Photoelectric
current

D. )

state will be (m is the ﬁlss of the electron) o oLy

he_ ;": heB quuuncxﬁt’light
M 3 [.-}—l == F_*
B A
ay b ) he. (1) AandC (2) AandD
! 2 Tt (3) Band D (4) A only

46_English | 5
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An electron (muss 9410 ',” kg .m‘t}l E!IJ'EHI?H
Lo 1019 moving with spee L.nmil:
b speed ol light) is injected into a mag

, .

. . e . ular
field # ol magnitude 9<10 Fl.lwrp"nd“b:\,- an
W its direction ol mation, We wish to applhy

=% .

Fis N . » &
uniform electric field £ together with tht
magnetic field so that the electron does no

deflect from 'iis path. Then (speed of light
€= 34108 ms
) ‘Bl =
Y E s perpendicular o # and
itg magnide is 272102V m!
—5 i —»
(2} £ is parallel 1o B and
its magnitude is 27x102 v m-!
- —r
E is parallel 1o B and
its magnitude is 274104 v -l

(3)

- R -
() Eis perpendicular o B and
s magnitude is 27104 v !

. L -
Consider a waler tank shown in the
It has one wall at x = L and can he taken
1o be wvepy

¥ wide in the = direction.
When filled with g liquid of surface tension S
and density p »the liquid surface makes angle
B5(8, =<1y with the x-axis atx =L Ify(x) is

the height of the surface then the equation for
Jx) is :

figure,

{take mx;=s:i_hiﬂ'{.ﬁr}'=tnnﬂ{x}=-'!::i, £ is the
b e oy
acceleration due 1o gravity)

Py pg! 2 '
L £ o =
W =5=37 @ 22|z
e el S
1 [ %)
dy e Yy _ pp
U ;.” —aiby
(3) el & l: de 8 %
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A pipe open at both ends h:!s.u I"l.uuiunjmnml
frequency fin air. The pipe IS now dipped
vertically in a water drum to half of jts length.
The fundamental [requency of the air columy,
is now equal o :

3f

(1) f (2) B3
i i

3) 27 3 5

]

A parallel plate capacitor made of circular
plates is being charged such that the surface
charge density on its plates is increasing at g
constant ratewith time. The magnetic field
arising due tojdisplacement current is :

(1 mnslaiﬂ: between the plates and Zero
uutsid{lflje plates

non-zero; everywhere with maximum a
the imaginary cylindricql surface
connecting peripherics of the plates
zero bétween
outside

(2)

(3)

the plates and non-zerop

(4)

zero at-all places

-

Three idcrquicul heat con
connected in series as show
rods on the sides have thermal conductivi y 2K
while thatQin the middle has thermy|
conductivity K, The left end of the
combinatiof is maintained a1 temperature 37
and the right end g1 7 The rods are thermally
insulated Itjr:um outside. In steady state,
lemperature-at the lefi Junction is Ty and that

" nis Ts. The rutio 1Ty s

ducting rods are
nin the figure, The

at the righ lritjm:tiu

- e

3T a %, « [k Er
—I: /i Ty

) 3 5
i 7y 2
M 3 @ 3
3 3
(3) _I ) 5

| Conry,.,

. A

(¥ Scanned with OKEN Scanner
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A constant valtage of 50 V is maintained
between the points A and B of the circuit

shown in the Ggure, The current through the
branch CD of the circuit is ¢

20
B
40
|
S0V
(N 204 © (2) 254
(3) 304 1 @ 154
[

m3l
In some appropriate units, time (r) and position
(x) relation ofiajmoving particle is given by
{ = x2 + x, The'deceleration of the particle is

™~
2 . 2
(1) [."-!;r+|}3 () (x-ﬁI}B
L
e T : 3
G *F e Y (x+2)
b
o

Two gases A @id B are filled at the same
. 1 i i
pressure in sepﬁ}atﬂ cylinders with movable
=

pistons of radius{?y and rp, respectively. On

supplying an equal amount of heat to both the
systems reversibly under constant pressure, the
pistons of gas f-4nd B are displaced by 16 cm
and 9 cm, respectively. If the change in their
internal Energ&is the same, then the ratio

Fa/ ’

A.f is cqunlg
£
|

2
(1) - ®F

r.;‘-—-l ;.lw
tad

4
(3) () 3

46_Fnglish |
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In an oscillating spring mass system, a spring
iz connected to a box filled with sand. As the
hox oscillates, sand leaks slowly out of the box

vertically so that the average frequency o(r)

and average amplitude A(r) of the system

change with time r. Which one of the following
options schematically depicts these changes

(1)

(2)

correctly? -
o |
4 €N
//r
wr) [ Lo
I _!i o
perr CHA
E'--.
4
n
i) 0N
‘\E"
- _
. s
Al
— -
=i
]
=

(3)

(4)

| Contd...
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A sphere of radius K is cul J“rf'-m il I:ir;y.i::: “I‘IE::.I
sphere of radius 2R oy 511Emm»-|1 in the IFL'-Jj . e
ratio of the moment of inertia ur‘um smia fer
sphere 1o that of the rest part of the sphere
about the Y-axis is :

] I\Y

—

a7
=~

(1)
7 i
(3) i -

The plates of a p‘:ir':allel plate capacitor are
separated by d. Two slabs of different diclectric

d

5
respectively are i[iséned in the capacitor, Due
to this, the capacitance becomes two times

larger than when there is nothing between the
plates.

IPK| =125 K,, the value of X, is :
(1) 2.33 “1(2) 1.60
3) 133 (4) 2.66

. 3
constant K| and K, with thickness ﬂ—n’ and

There are two inclined surfaces of equal length
(L) and same angle of inclination 45° with the
horizontal. One of them is rough and the other
15 perfectly smooth.A given body takes 2 times
as much time to slide down on rough surface
than on the smooth surface, The coeff

. icient of
kinetic friction (Hg) between the object and
the rough surface. is close 1o
(1) 0.40 (2) 0.5

3) 075 (@) 0.5

38

39

46_English |

A boh OF heavy mage " |
string O length /. The i
Velocity vy as shown i i o SN @ by "

slack at some paing g i

the Imriz-_':nml. the rayj i
bob at poin p

S8y v

Mip,
i

o g i:l][iaj a Gf ¢
o .!'\ 'I o .}'
Peed I:'"I;,] iy &

L)

|
o |
D
1
H

;._5‘
(1) LA e
243sin@ N
: w0
|
i~
) cos 0 yl‘
2+ 3sind
£
I ™
(3 sin € /g o
' 2+3sind =
B
it

@ (sin0)/ 0

A container has two chambers of volumes
¥y =2 litres and ¥, = 3 litres separated by 3
partition made of a thermal im{l_ffnmr. Th::
chambers contains #p =5 and ny =5T|, males ol
ideal gas at pressures p, = | Jatm -.mli%
P> = 2 atm, respectively. When thé partition

removed, the mixture attains an }.{{%uilibrium
pressure of i

(1) 1.6 atm (2) 1.4 am

(3) 1.8 atm (4) 1.3 atm

I cmlld--
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To an ac power supply of 220V at 50 Hz, a
resistor of” 20 €2, a capacitor of reactance 250
and an inductor of reactance 450 are
connected in seried. The corresponding current

in the circuit and_}'he phase angle between the
current and the yoltage is, respectively -

(1) 7.8 A and 459
(2) 15.6 A and 300
(3) 15.6 A and 45°
4) 7.8 A and 30°

The radius of Martian orbit around the Sun is
about 4 times :':EHE radius of the orbit of
Mercury. The Martian year is 687 Earth days.
Then which of the following is the length of
1 year on Mercury 7
(1) 225 earth days
(2) 172 earth days
(3) 124 carth days
(4) 88 earth days

5

4
A hballoon is méde of a material of surface
tension S and its inflation outlet (from where

gas is filled in it) has small area 4. 1t is filled
with a gas of dengity p and takes 2 spherical
shape of radius R=When the gas is allowed to
flow freely out dfit, its radius r changes from
R to 0 (zero) in time T. If the speed v(r) of gas
coming out of the balloon depends on r as 1
and T oc S®AP p¥ RE then

(1
(2)

3 o=

(4)

46_English |
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A particle of mass m is moving around the
origin with a constant farce F pulling it
towards the origin. |f Bohr mode! is used to
describe its motion, the raﬂ_ilus rof the n'h orbit
and the particle’s speed v.in the orbit depend

on n as

23

(1) recntfd; ven

@) Fon?3; veen

(3) recnt3; v ri‘]{jl
<j
L4
@) rocnl/3; veenlBoy
LWL
L e
Two identical point masses P and Q, suspended
from two separate massless springs of spring
constants k; and ks, respectively, oscillate
|
vertically. If their maximum speeds are the
same, the ratio (AQJ’A ) ofithe amplitude A4
of mass O to the mnplituc}:_"id,:. of mass P is:
LT
ks

(1) @ W,

k Lky
(3) E (4) }T
r

.‘\il

LY
ky

Cu
A ball of mass 0.5 kg is dt’éﬁpﬁd from a height
of 40 m. The ball hits theiground and rises
to a height of 10 m. The impulse imparted to
the ball during its collision with the ground is
(Take g=9.8 mis?)

(2) 0
(4) 2INS

{1y 7NS

(3) B4NS
| Contd...
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50 ldentify the suitable re

nts - agent for |
gratemetts, snsidered conversion, e f Ol
Given belod qenetism 15 & : "y
IVE . Fer g .
'\l.lh'rlllnll form ‘j[mr.'llﬂﬂﬂ'“'”ﬁ:};[}ﬂil‘t 8] n
g% an exre e '. The number @ S CHo-
st ilcnunl :IL'F:, i m:l—lj is the sa ’DC”:,——} ©/ _
s in By o
I'Lllnlllfl |1 g ion ff = fill). ats, choose the (1) (i) AIH(Bu), (i) H.O ¢
el i of the ﬂl"'[“’f slateme en below: : & =
Iu1l::::"““r mm‘|h-: options £ :::; ; (2) (i) NaBH, (ii) H*/H,0 g
:T;’ Both Statement ) and Stateme (3) H,/ Pd-BaSO,
are [alse Gt o g
(2) ::ncmcnt lis true hut Statement I (4) (i) L-“ﬁ'-“‘h- (1) H a‘rHZU
sl L
(3} Statement 1is 1;1|s_c but Statemen 51  The major product of the following reaction
Lk d Statement 11 0 i 5
(4) Both Statement | :f'l : (i) CH,MgBF:
true & i .
et \0 @J\/\ CN (excess)
For the r:_a:liun:ﬂm: g)=12B(g) the (i) H;0"

hackward reaction rate constant is higher than
the forward reaction rate constant by a factor OH -
of 2500, at 1000 K. ©><,\“/ 5
(Given : R = 0.0831 Datm mol=! K]

Ky for the reaction at 1000 K is

m 2077% 105 (2) 0.033 H,C_ Ol 2
(3) 0.021 (1} 83.1 OH

\ @ @X’%m]
Total number of pggslblc isomers (both s

CH; I
structural as well as siereoisomers) of cyelic ,
ethers of moleeular formula CHLO is - Li
() 8 2) 10 r‘~”3 "
(3) 11 (4) 6 "
. Q)
Given below are two statements ; OH
Stutement 1 2 A bypothetical digtomic (4) xt £
molecule with hmud order zero is quite stable, CN q 1
Statement 11 5 As bind order increases, the
bond lengih § mm.au:s n
In the fight of the above o ¢ '

2 aements, choose th |
must appropriate ﬂnix\.er Gt 1 Dplmnz 52 If the molar conductivity: [:"hm] of
H”‘;‘“ﬂh‘l}““ 0.050 mol L-! solution of a I'I‘Il:!“l"llﬂhd:t"r weak

.:::_ :,:;":‘“Em““l li!m! Statemeny [ acid is 90 § em? mol-!, its extent (degree) f
g1~ . o L= . i
13) Sutement | s e but Staem, L R
! e
Qa ' false [Assume A5 =349.6Sem? mol~! and
b Sltemen | g filse by <
5 e L Stermeny 1l .o ;o
@ 1 A =5045em2 mol-!.]
Oth Ststemeny | ind Sigre
e Uy AMatemeny |y (1y 125 2y 0.225
4§ uglisk | (3 0.215 (4y 0115
10 [ Contd-
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53 Which one of the following renctions

T be does
NOT belong to “Lassnigne’s 1es™

- L e

:. I '] ﬁN[I 4 :"I -'—-—.‘.‘L ¥ Nalgr
2) + R
{ Ma+ X —— Na}{
r'\t

3) 2 ;
(3) 2CuO+C — 2@,-14'(301

(4) Na+C+N —'—+NaCN

i
o

54 The correct order of decf@dsing acidity of the

following aliphatic acid%l.i; :

(1) CH,;COOH = {CH._,j:,CHCDDEI =
(CH4);CCOOH > {{QGOH

(2) HCOOH > CH,CO0H > -
(CH4),CHCOOH > {CH,),CCOOH

(3) HCOOH > (CH,),CCOOH >
(CH3),CHCOOH >GH,COOH

(4) (CH;),CCOOH > q;:“gij)zuﬂcnmr >
CH,COOH > HCOOH

4
£
55  Match List I with List 113

List 1 f:i.;ist 11
(Name of {Deficiency
Vitamin) _discase)

L
Vitamin Bj, . 7Cheilosis
Vitamin D 1. .E{:ﬁ.‘unvulsicns

Vitamin B, 11T Rickets
IV.ig ernicious anaemia

o0 w >

Vitamin By
Choose the eorrect answér from the options
given below : L

(1) A-1V, B-11L, C-1, D-1l

(2) A-ll, B-111, C-l, D-1v

(3) AV, B-11l, C-I1, D

(4) Al B-1, C-I1, D-1Vv

46_English |

58

Out of the following complex compounds,
which of the compoundiwill be having the
minimum conductance in'selution?

(1) [Cn{NIi3}4Clz] n

@ [Co(NHy), Jci;

Lol
@) [Co(Nis)s el
[

@) [Co(NH;),Cls ]

| i :'_'_:-

|.l'-_.. =

B B

Sugar ‘X’
A, is found in honey. ,

B. isa keto sugar.
C. exists in o and ﬂﬁnamen: forms.

D. is lacvorotatory.

X=is -
(1) D-Fructose IIE} Ma!mse
{3} ' Sucrose [41 D-Glucose

i -||
How many products {in:'::_'lfuding sterenisomers)
are expected from monochlorination of the
following compound?

H;C
H\CH = CH S CH-_;'
‘/ i
HsC
(M 3 4;1;[:_! 5
(3) 6 (4)°2

|
Which one of the following compounds can
exist as cis-trans isomers?

(1) 2-Methylhex-2-¢ne
(2) 1,1-Dimethyleyclopropance
(3) 1,2-Dimethyleyelohexane

(4) Pemt-1-ene
| Contd...
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60 Which one of the following €

NOT give be nmn'r.' ?!H the 1“‘”‘1'“"I

NN

n=hexine

Mo,ty

(1 =10 - 20 0.
J'T‘dlh‘

™
1 hot fron Tube

H-C=0C-H =T RTJ_]{

(2)

o A with
Phaosphoric acid ipnizes in three steps

their ionization cofistant values

61

Ka s K,

4 and Ka]. respectively,

while K is the ovtrall ionization constant.

Which of the ﬁ}llﬁing staternents are true?

A. logK =log Eiﬁ log K“2+ log K‘u3

L |
B.  H3POy is arstronger acid than H,POj

and HPDE", .

Choose the co
given below:

(1) A and C only
(2) B, Cand D only
(3) A, Band C only
(4) A and B only

answer from the options

46_English |
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62

64

Among the following, choose (he One
equal number :3!‘ atoms.

212 ¢ nfh{h};ﬂﬂj () [molar magg .
248 g an:i‘lU (s} [molar masg = 62 ]
240 g DFN‘EPH (s) [molar mass < 4, :
12g uFH-{(\g} [molar mass = 2 g

220g anOE{g} [molar mass = 44’ .
Choose the coFfrect answer from
given below :

(1) A, B, andDunly
2) B,C, ancLB only
(3) B,D. dnd'E only
@) AB,and

&
LD
Given below arg two statements :

5 u‘ilh

mon= >

the opt; o

only

Statement I ; Tike nitrogen that can form
ammonia, arsenic can form arsine,

Statement Il -~Antimony cannot form
antimony penfoxide.
P

In the light th %e above statements, choose the
most appropriate answer from the options
given below &

e
(1) Both Statement | and Statement [I
are incomrect

(2)

Statement | is correct but
Statement Il is incorrect

(3}

Statr:meh?] is mcnrrect but Statement ||

is -::un*ac’}._

Both Statdim:nl | and Statement 11
are ¢o g
\.ﬁ

Dalton’s Atdmie theory could not explain
which of the fo ollowing?

(4)

(1) Law of constant proportion
(2) Law of multiple proportion
(3) Law of gaseous volume

(4) Law of conservation of mass

| Contd-
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65  The correct order uf'd:.r:u..mnj: basic strength
ol the given amines is -

(1Y N-ethylethanamine = ethanamine -
benzenamine = N-methy!amhnc
N-ethylethan: !nmm:.l cthanamine >

MN-methylaniline E]hunzenamine

(2)

(3)

benzenamine > ethgnamine >
N-methylaniline > N-ethylethanamine
M-methylaniline é5“"]::wf':rm:nﬁzlrn:ﬂne >
ethanamine > “~J~ethy1ethanam|m

(4)

66  Which of the following statements are true?

A.  Unlike Ga that has a very high melting
point, Cs has a M’é.ry low melting point.
On Pauling Scalf:_,}‘lhf: electronegativity
values of N and C‘.l are not the same,

Ar, K*, CI-, Ca2% and 52 are all
isoelectronic speEIES

The correct order” nf the first ionization
enthalpies of Na, Mg, Al, and

Siis 51> Al }Mg‘bﬂa

The atomic radius of Cs is greater than
that of Li and Rb.
Choose the correct answer from the options
given below : ™
(1) Cand Eonly '™
(2) C and D only :j'
(3) A,C. and Ecmi}’ |
(4) A,B,and E unl}fr*

Match List - 1 with l.[.iaj - 11

List-1 List-11

XeO; 1. spd: linear
XeF, L' sp3; pyramidal
XeOF, sp d?; distorted
octahedral
sp>d?; square
pyramidal

B.

E:

67
A.
B.
C

D. XEFﬁ

{d

Choose the correct dnswer from the options

: . -]
given below : Y

(1) A-I, B-1, C-iit, DAV
(2) A-1V, B-Il, C-11, D-]
(3) A-IV, B-11, C-1, D-IlI

(%]

69

70

(4) A-l1, B-1, C-1V, D-1I
46_English |
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T ation, 0
The smm.hrd heat of form

keal/mol of BaZ' is:

rd heat of formation of

[Given : standa

2= ==-216 keal/mol,
S0y ion {ag) =

standard heat of (..I’j-’ﬂlﬂ”.lﬁdt'll’.‘!ﬂ of
dar

BaS0,(s) = - 4.5 kr:.al.fmul stan ;

I'nr'mauun of BaS%{ﬂ = _ 349 kcal/mol]

d heat of

(1) - 133.0 C tzy +133.0
(3) +2205 L4;- - 1285
G

Among the given compounds 1- 111, the correct
order of bond dissociation energy of C-1 bond
marked with * is :

-
L

L) H

o

H
k.
U >
1‘-'.1.
Ly H
1 oo i

) misl
(4 IH=1=11

() L>T1> 11
(3) =1

Predict the major ﬁruduct P’ in the following
sequence of reac!.mn': -

(1 HE;b-:nzn-_.rI peroxide

@}”3 (ii) KEN .
(iiii) Ma (Hg)/C,H OH (Major)

{J:I_-

H, v

smd

) HNH, |
{ZH.3l e |

NC |
'H-;E
cC ™
CH, (\)
3) b3
II.
i |

4
5 CH,NH
| Cont
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72

Mateh List = 1 with List - 11

List-1 Lisi-11
e catalyst
PdCl,
1L [{PFIiE}_;RhC”
D. Ziegler cgialyst V. TiCly with

(M Al(CHy)s
Choose the Eﬂ;rcct answer from the options
given below =i

(1) A-IL, B-III, C-1, D-1V
(2) A-l, B-ll G, DAV
(3) A-l, B-w -1, D-11
(4) A-L, B-1L. GWDI]I

Cu
&Y
Energy and radils of first Bohr orbit of
He® and Li?* are

|Given Ry;= ZFI_é -8 ag = 52.9 pm]
(1) E(Li%7) =-8.72x10-18);
r(Li%%) 1;@54 pm
E,(He') =£19.62x10-18 J;
t(He*) =':j? 6 pm
E !.’LJ‘*J “’-" 19.62x10-16 J.
r(Li?t) = I‘? 6 pm
E (He') = -8.72%10-16 .
r,(He* j=rzﬁ 4 pm
E (LiZ) 1-—3 7210716 .
r(Li%%) _tf:?ﬁ pm
E (He") £419.62x10-16 ),
ro(He*) =,17.6 pm
E(Li2%) 519,60 10718 5.
L) = 17.6 pm
E (He') = —8.72410-18 ).
Flle™) = 26 4 pim

A Habwr process I
I3, "uhn..lnrn\utluim\ 1.

oW :il..m-\un catalyst

(2)

(3)

(4)

46_Engish |
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74

75

76

Given below are two statementy . 4
lahelled as Assertion (A) and (he Othy, I
labelled as Reason (R), T
Assertion (A).: 1 undergg,, q
reaction fasterthan _~~~_-~_ (], d
Reason (R) = lodine is a better leavin
because of i!‘g;l'}argu size.

In the light ﬂlf-li'lr:! above statements, choosg "
correct answer from the options given belqy,
(1) Both Awand R are true but R ;
correct explanation of A

A is true but R is false

A is F"IlSL but R is true

Both A amd R are true and R is the Cormeg)
ﬂxpfanahnn of A

e
If the hnlf-llf:. #(t2) for a first order reaction

is | minute, rpén the time ruqusred for 99 9e;,
completion nf [the reaction is closest 1o :

(1 4 rnmutesa

(3)

-g grﬂu

S not

(2)
(3)
(4)

{(2) 5 minutes

10 minutes (4) 2 minutes

Which of thﬂ “I'ullnwmg aqueous solution will
exhibit highest boiling point?

(1) 0.01M I{ND
(2) ﬂﬂlMNﬂESH
(3) ﬂmsrv’i’tﬁﬂpn
(4) 0.01M Urea

Higher vield of NO in

Na(g)+ Dlr(u%) = 2NO(g) can be
obtained at r~

[AH uf{hern?aclmn =
A.  higher temperature
B. lower témperature
C. higher Egnm.nlmlinn of N,
D. higher concentration of O,

Choose the correct answer from the options
given below:

(1) B, C only
(3) A, C, D only

+ 180.7 kJ mol™'|

(2) B, C.Donly
(4) A.D only

| Con td.
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79

Mateh List T with List 1)

List 1 List 11
lll*“.']' (Gronp Number
o in Catjon Analysis)
A Cos I Group-|
~h
B, Mgy’ . Group-11]
¢, Phit ¢
' [, Group-|V
I3 A};{ v, Group-v|

Choose the correct answer from (he options
given below : ;

(1) A-lIL B-1V, C-, D-
= I

(2) AdlL, B-Il, C-1V, D-I
(3) AHIL B-Il, C-1, D1V
(4) Al B-1V, C-1I, DA
i1
LD

The ratio of the wavelengths of the light
absorbed by a Hydrogen atom when it
undergoes n=2 5 n=3andn=4 5 n=6
transitions. respectively, is
{"i"h_
A=
167
hat
N
o
4
)

(h (2)

3) 36

(4)

The correct order of the wavelength of light
absurbﬁ by the following complexes is,

£ 3+ 4=
A [ogfma) [ B [Co(eN),]

ab

Ol

C. [CE?HEU}JH D. [Ti(]"-’-"rj]ﬁ]jwr

r= .
Choose the correct answer from the options

given below:
(1) B<A<D<C
(3) C<A<D=<B

(2) C<D<A<B
(4) B<D<A<C

46_English |
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81

82

Tdemily the correer arders against the property

mentioned
A IIEH = NI, - CHE Iy
B, XeF, > :"‘:L‘f}] = Xek,

p.'!ir:a on central atom

dipole mament

number of lone

C. O-H=> cf-‘lﬁ'> N-0 — bond length
D. Ny> 0, >H, - bond enthalpy
Choose the corféel answer Trom the ::ptiun:.

given below : ":
(1Y B.Donly:,
{3) B.C Dﬂl}’t-i
™
Match List 1 with List IT
List 1 )
{Mixture}f?z
A. CHCly+ .
C L NH o
!__(__r
B. Crudeoilin,  IL
petroleum
indus
ml ueu-yl r'.":-
C. Glycero Eitqln
spent-lye T~
] iline - wate
D. Aniline xa(q er

LY

Il

V.

@) A.Conly
{4) A, Donly

List 1
(Method of
Separation)
Distillation
under reduced
pressure
Steam
distillation

Fractional
distillation
Simple

distillation

Choose the corféct answer from the options

given below : ™

(1) A-IV, B-lil, C-I1, D-1
(2) A-lIL, B-1V, C-1, D-II
(3) A-lIL, B-IVE'C-1L, D-|
(4) A-V, Bl C-1, D1l

Ejii

i L .

If the rate cnn%k nt of a reaction is 0.03s 1,
how much timezdoes it take for 7.2 mol 1!
concentration of-the reactant to get reduced to

0.9 mol L71? v
(Given: log 2= 0.301)
(1) 23.1s
(3) 21.0s

(¥ Scanned with OKEN Scanner

(2) 210s
(4) 69.3s
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83 Which among the following €200,
confipurations belong o main group ¢ lemet
A [Nepas! i, |.."1.r|3-d345-
¢ IR Vss3sp® D (Arj3d!03s’
1. [Rn)st¥%d7 75 J
Choose :hc;ull:nrrccl answer from the aption
given below-:
(13 A and C'only
(2) D and E only
(3) A, CandD only
{4y B and E only
84  Match List I-I with List - II
List-1 " List-11
(Exnmil:l'i_}:] (Type of Solution)
A.  Humidity I.  Solid in solid
B. Alloys ™ II. Liquid in gas
C. Amalgams 111, Solid in gas
D. Smoke IV. Liguid in solid
Choose lhel_-i‘:?é}rrect answer from the options
given below.:
(1) A-ll, B, C-IV, D-III
(2) A-ll, B, C-IV, D-II
(3) A-Ill, B:IL, C-1, D-IV
(4) A-IL, B-TV, C-1, D-III
85 5 moles of liquid X and 10 moles of liquid ¥

make a solution having a vapour pressure of

70 torr. The vapour pressures of pure X and Y

are 63 torr :—_]I11£| 78 torr respectively. Which of

the I‘nl]nwit}giis true regarding the described

solution? .,

(1) The solution shows negative deviation,

(2) The sc{'yj‘:tinn is ideal.

(3) The solution has volume greater than the
sum of individual volumes.

(4)  The solution shows positive deviation

46_English |
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87

('{i;} | EII:'[I—” —F (Illlifgj: ﬂli_'?'lﬂ
Which of the Tollowing dingram,
accurate representation pf the

LT
Riye
. 5,
dhi}‘."u T, |

[R — reactants: P — products] iy,

Energy
(kJ mol~")

T

| - —
— Reaction pro £ress

(1)

Energy
(kJ mol~1)

(2)

Energy
(kJ mol~")

T

—3 Reaction progress

(3)

Energy
(kI mol 1)

1

I :
—> Reaction progress

R f)

4) ZE

—y |
Which one of the following compounds does
not decolourize bromine water?

() {o)—ou (!

I Cnl'lld...
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Consider the [ollg
KOy 1,0, and :I“l:“uj:. S ST T
The oxidation stares n.;l
in them are, respectiy
(1 +2,-2,
(2) +1,-2
(3
(4)

ﬂ‘IL undeg];
ely,
and +g 7
» and +4 \;
+4, 4. and +6 1
+1, -1, and +g ™1

71
Given below are twg statements -
Statement 1 : Bepge

neédia

prepared by the reaction of St
Bcid at 273 - 278 K |.L;I:|E
the dry state,

Statement I1 : Inbcrﬁbn of iodine

benzene ring s -;:hff“cult
iodobenzene is pra.pareél

ned elements

salt is
aniline with nitrous

composes easily in

into the
and hence

through the reactio
of hcnzenedlmmumuaall with KI. ’

In the light of the abnue#slatemems choose the
most appropriate answer from the options
given below :

(1) Both Statement ] and Statement 11
are incorrect

(2) Statement | is correct but Statement 11
is incorrect =}

(3) Statement | is indérrect but Statement 11
is correct

L

{4) Both Statement :[iénd Statement 11
are correct

v

Which of the following are paramagnetic?

e

A [NiCL  ~B. Ni(CO),
=
it it . 2+
G [Ni(CN)d]z :“J‘P [Ni(H20); ]
e
E, Ni(PPh3]4 L

Choose the correct Erjéswer from the options
given below: ;

(1) B and E only

(2) A and D only

(3) A, D and E only

(4) A and C only

46_Englixh |
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suateh List - T with List - 1T,

List - | List - 11
A. Progesterone l. Pdrs intermedia
B. Relaxin 1. .(hr:ir}-'
C. Melanocyte 1. ;,-"t:drunnl
stimulating hormone Medulla

. Catecholamines IV Cl:rrpuﬁ luteum
Choose the correct answer I'rm'n the options
given below :

(1) A-IV. B-IL C-IIL DI
(2) A-lL B-IV, C-1, D-11i
(3) A-NI, B-1, C-1V, D-I
(4) A-1V. B-1l, C-1. D111 3
The blue and white selcuﬂhie markers huw.

been
recombinant colonies from nnn-rﬁcumbmam

colonies on the basis of their ability to produce
colour in the presence of a chromogenic
substrate. i

Given below are two siatan{?ﬁts about this
method: i~

Statement I : The blue cniﬂuré‘d:cu\ﬂnics have
DNA insert in the piasmich.;é}nd they are
identified as recombinant colonies.
Statement 11 : The colonies without blue
colour have DNA insert in the p]ﬂblﬂld and are
identified as recombinant colonies.

In the light of the above statements, choose the
most appropriate answer from the options
civen below : e~

(1)

Both Statement | and Sw_"lémum 1
are incorrect f_ [

(2) Statement | is correct but Statement 11
is incorrect 1|

Statement | is incorrect but Statement 11
is correct

(3)

(4) Both Statement 1 and Statement 1
are correct

| Contd...
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96 Who proposed that the genetic cogy L

i 3 i - sl
g : One 1 acids should be made up of three e Ming

) sinlemen i

93 Given below are Y J the other is O e
labelled as Assertion (A)an (13 Francis q:_.'le
labelled as Reason (R). m pOSSESS @) lacque Manod
Assertion (A) : Cells of the lﬂi‘“‘m more than i
dense .;}rm}ﬂpsm and gc.-ncrally ha (3) Franklin _Sllilh|
25
one nucleus. ¢ than one nucleus (4) George C!?E‘mw

Reason (R) Presence of mo :
- il 5 e
in the tapetum increases the

o Fjrgi'l. 5 micrﬂﬁpﬂm |'|"ILI|.
nqunshmgL ¢ developing
cells.

[ ¢
In light ﬂf:]v.- above statements

fficiency of
her

e
=

97 Which of the following is the unit o
hoose the productivity of an Ecosystem?

= jons
most appropriate answer from the:0F! (1) KCal m2-,
given below : _ s )
(1) Both A and R are true but R is NOT the (2) KCalm=_
cnrreél explanation of A (3) (KCal m—2yjr-!
e

(2) Ais true but R is false @ gn2 O
(3) Aisfalse but Ristrue " gm ;::E
(4) Both@iand R are true and R 15 the corre

i

explu%lian of A 98  Which of the following is an example of g
omorphic flower?
94 Maich List ] with List I1 “YEUMOTPIE Hower
List I List II (1) Datra .~ (2) Pea
A. Pteridophyte . Salvia 1 Chilli ) £ Pituni
B. Bryoffivic L Girkeo (3) . (®) Petunia
C. .ﬁngit?s}:enn III. Polytrichum r"é;
D. Gymugsperm V. Salvinia 99 Match List I with List 11 -
Choose the,gption with all correct matches. vy @ .
(1) A-IVEB-II, C-1, D-II W List 11
(2) A-IH}_E-I"'-’. C-I, D-ll A. The Evil Quartet 1. Cryopreservation
(3) A-IVEIIL C-Il, DAl S — | ,
(4) A-IILB-IV, C-11, D-1 TR IL~ Alien species
conservation invasion
. . a )
95  Match List~ I with List - I1. C. Lantana ¢~ S Bansen?
List 4T} List - I1 ot o
A. Heart™~ I Erythropoietin camara oy biodiversity
B. Kidney, . Aldosterone ™ losses
C. Gastrgsintestinal 111, Atrial natriuretic o i
tract 'O factor D. Dodo r: IV. Extinction
D. Adreral Cortex IV, Secretin Choose the option with all correct matches.
Cthnﬂsc the correct answer from the options (1) A-Ill, B-I, C-II. D-IV
given below :
(1) A-1V, B-11, C-1I, D-1 (2) A-lIL, B-1V, C-11, D-I
(2) AL, B-1NL, C-1V, D-It (3) Al B-II, C-1V, D-|
(3) AN, B-l, C-1V, D) i BV
(4) A-lL, B-1, C-I11, DAy (8 AN B, O B
46_English | | Contd...
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T ciiven below gpe

siptement | It avs
PN LIRS YUl
unidirectional Now of u"}-“tm.
erey of

w5y
stitemeny
G : ] 4
; ' 104 In frog. the Renal portal system 15 @ special
there is VENOUS connection that acts w0 link :

pro<lucers 10 consumers, 5Un from (1) Liver and kidney
statement 11 : Eepg ,i : ;
L BkOsYslem . (2) Kidney and mtestine
2 Jawy of thermody NS,Are exempled fro S ) .
ynamics, m (3) Kidney and lower part of hady

In the light of the aboye ftate

: me
most appropriate aps, [
given below

iver and intestine
I'I.IS. uh'-‘l:lﬁe “'IE ‘.4} lver an !

ver fi :
a5 rom the aptions - _
105 Which of the following enZymels) are NOT

(1) Both statement | ang'e ! :
are incorrect n T and statemen 1y essential for gene cloning?
: = Restriction enzymes
(2) Statement [ is correet A .
is incorrect reet but statement 11 B, DNA ligase
11 Statement | is i C. DNA mutasc
t < correct 1S Incorrect but statement [ D. DNA recombinase
(4) Both statement | ﬂl'l;ifsmte E. DNA pul:.rmem;é},':_
s Carree ~ et Choose the correct-answer from the options
=] given below :
{01 The protein portion of an enzyme is called - (1) AandB only '
(1) Coenzyme W s () Dand Eonly
(2) Apoenzyme - (3) B and C only
(3) Prosthetic group ° 3 {(4) Cand D only

{4} CUﬂ]CtDr 41
106 With the help of given pedigree, find out the

102 Twins are bontoa farnilv that Ii - probability for the birth of a child having no
4 IV IR Gulie disease and being & earrier (has the disease

(1) They are fraternal Lj;-.{i‘lns_

(2) They were conceived through in vitro
fertilization. 4

(3) They have 75% idertical genetic content.

(4) They are monozygotic twins.

|

generation.

l_'"'_l-

103 After maturation, in primary lymphoid organs,
the lymphocytes migraté for interaction with

antigens to secondary :l?hphﬂid organ(s) / [] Unaffected mae &
tissue(s) like: A I Affested male e
N w1
A, thymus B. '-{bﬂ'"e marrow @ Carmier female
C. spleen D. “"[‘:’mph nodes () Unatfeeted female
E, Peyer's patches : @ ~trccted female
Choose the correct answer from the options
given below: (n 12 2) 118
() A B,Conly (2) E A, Bonly (3) Zero (4) 1/4

(3) C, D Eonly (4 BC D only

46_English | 19 | Contd..
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_ e shareleristic
Wohieh o ol the following 1s 1he charuc

feature of py mnosperms?
iy
(1)

Seeds are naked,

seeds are absent.

(30 Gymnospenms have Nowers for
reproduction,

(=)

Seeds are enclosed in fruits.
The firs menstruation is called :

(2) Diapause
(4) Menopause

LY Menarehe
(3} Owvulation

In bryophytes, the gemmae help in which one
ol the following? -

(1)
(2)
(3)
(4)

Asexual reproduction
Nutrient absorption
Uaseous exchange
Sexual reproduction

How many meiotic and mitatic divisions need
o occur for the development of a mature
female gametophyte from the megaspore
mother cell in an angiosperm plant?

(1) 1 Meiosis and 2 Mitosis

(2) 1 Meiosis E.___u 3 Mitosis

(3) No Meiosis and 2 Mitosis

(4) 2 Meiosis and 3 Mitosis

Role of the waterivascular system in

Echinoderms is.;!

Respiration and Locometion

Excretion and Locomotion

Capture nzn .#::.n._i: of food

- Digestion and Respiration
Digestion and Excretion

on®>

m

Choose the correet answer from the options
given below : | |

(1)
(2)
(3)
(4)

A and C Only
B and C Only
B. D and E Only
A and B Oply

46_English |
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114

115

Read the following statements on pl

and development.

A. Parthenocarpy can be induceg by

B, Plant growth regulators can he
in promotion as well as inhij}
m__.E...._.__u..._

C. Dedifferentiation is a pre-re
re-differentiation.

D. }_umnmmmmmﬁa is a plant growth Promae

E. Apical dominance promotes the
lateral buds.

Choose the option with all correct stateme

(1) A_,C,Eonly (2) A D E only

(3) B,D,Eonly (4) A B,C only

ant WT. __._..E._

Alxiny,
._ﬂ._..n___._r.ﬂﬁ_
Mo of

quisipe fiyr

Browth ¢

nts,

Which of the*following type of immunity
present at :_n time of birth and is 3 hon.
specific type of defence in the human bodys
(1) Innate Immunity

(2) Cell-mediated Immunity

(3) Humoral Immunity

(4) Acquired Immunity

Why can’t insulin be given orally to diabeg,
patients?

(1) I Em__.._umw digested in mmmﬁE-EEm::ﬂ
(GI) tract

(2) Becauseof structural variation

(3) Its bioavailability will be increased

(4) Human body will elicit strong immune
response.’

Which oné of the following equations

represents the Verhulst-Pear| Logistic Growth
of population?

clt K
—_—
@ L. =K J
i cL
0

® G
)

dN K-N
By i N
) ﬁ K
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(16 silencing of specific MRNA ;
15 ot
i _..___..._vv:.._.ﬂ {mm_

RNAI because of -

(1) Inhibitory mmNZ}M.,”.
(2) Complementary ﬁ,m.ﬁ,,_ A
(3) Zu:-naﬂﬂ_n:.__ms...u.._.w. SSRNA
(4) Complementary m«..mz}

L B |

match List I with _..ﬁwu .M—

117
List I )
N " . List 11
i enosine . .
B. Adenylic aci M-LH Nitrogen base
4 .}.n— mw_ ﬂﬂ._.& m_- .h._r,_.._..-n..._.._.ﬂﬁ__.n.n__.r.m.n
C. n_.w_zn t.._m Nucleoside
D. Alanine | mw_.” PO
Choose the option E:_.w..w_: correct matches.
(1) A-IIL, B-11, C-1V, D
2) A-ll, B-L, C-L, D-IV
3) A-ll, B-IIL C-1, D=1V
(4) A-IL, B-1V, C-1LD-1
ﬂ.
. (I
{18 Frogs respire in water;by skin and buccal
cavity and on land byskin, buccal cavity and
lungs. 1
Choose the eorrect answer from the
following :
(1) The statement is true for both the
environment ”..ﬂ
)
(2) The statement is false for water but true
for land bt
(3) The statement is m».q_mn for both the
environment .,.m"
(4) The statement i trule for water but false
for land i

119  All living members of
are:

(1) Endoparasite  (2) Symbiotic

(3) Ectoparasite (%) Free living

46_English |
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ldentily the siatement that is NOT correct.

(1) The heavy and light chains are held

together by disul fide bonds.

Antigen binding site is located at

C-terminal region of antibody molecules.

(3) Constant region,of heavy and light chains

are located at C-terminus of antibody

molecules. .
Each antibody has two light and two heavy

(4

chains.

Given below are Lwh statements @ one 1s

labelled as Pmmmuzrz {A) and the other 1s
labelled as Reason (R).

Assertion (A) : The primary function of the
Golgi apparatus is ._.:.w.."ﬂmnrsmm the materials
made by the endoplasmic reticulum and

deliver it to Eﬂnnzcm_.m__. targets and outside the
cell. L

Reason (R) : Vesicles containing materials
made by the endoplasmic reticulum fuse with
the cis face of the Golgi apparatus. and they

are modified and released from the trans face
of the Golgi apparatus.
In the light of the auqﬂ,ﬂ statements, choose the

correct answer from the options given below:

(1) Both A and R are true but R 15 not the

correct explanation of A
(2) Ais true but R is false
(3) A is false but R is true

(4) Both A and Rare true and R is the correc]
explanation of' A

| Contd...
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123

124

Consider the followwing -
or the human

& H - i rr '- j
. e reduetive division
. than

female gametogenesis starts LI'HI'H'I:I'
that of the male gametogenesis.

B, The gap hcu+é£:r1 the lirst mfrit?tic Flhrisinn
and the second meiotic division is much
shorter for males compared to females.

C. The first polar body is associated with the
formation of the primary oocyte.

D. Luteinizing EIummne (LH) surge leads to
disintegration of the endometrium and
onset of menstrual bleeding,

Choose the corréet answer from the options
given below :

(1) Aand Care II;II_]I.IE

(2) Band D are troe

(3) BandC are 'true

(4} Aand Bare I;.I-JIE

Match List T with List 11 :

List T List T1
A. Scutellum I.  Persistent
nucellus

B. Non-albuminons [l. Cotyledon of
Y]

seed 4 Manocot seed
C. Epiblast e L Groundnut
D. Perisperm IV. Rudimentary
| cotyledon

Choose the option with all correct matches.
(1) A-IV, B-III, CE11, D-1
2) A-IV, B-llI, €1, D-II
(3)  A-Il, B-1v, G111, D-1
(4) A-1I, B-IIL -1V, D1
s
What is the main funetion of the spindle fibers
during mitosis ? 7

(1) To synthesize new DNA
(2) To repair damaged DNA
(3) To regulate cell growth

(4) To separate the chromosomes

46_English |

11

125

126

127

128

Which of the following statemeny, 3t

RuBisCO is true? T

(1) 1t has higher affinity for OXyge
carbon dipxide.

(2) Itis an enzyme involved in the photo
of water:

(3) It catalyzes the carboxylation of Rupp

(4) It is active only in the dark. )

n 1]1-'4 n

Vit

Given below are two statements :
Statement I : The DNA fragments CXtracteg
from gel electrophoresis can be used in
construction of recombinant DNA.
Statement I1L z Smaller size DNA I'ragm{_-mﬁ
arc observed near anode while larger fragmente
are found nearithe wells in an agarose ge|,
In the light of the above statements. choose (e
most appropriate answer from the options
given below
{17 Both statcment [ and statement []

are incorrect
{2} Statement | is correct but statement []

is i]’lc»m’;l-'iﬂ'-l'.':t
(3) Slatcm-";ﬁ[ | is incorrect but statement [|

is mrre::_i;
(4) Both ST.s_uE:rnt:nL | and statement 1]

arc correct

Which factor is important for termination of
transeription?

() o {sig:p,a} (2) p (rho)

(3) v (camma)  (4) « (alpha)

Consider the following statements regarding
function of adrenal medullary hormones : i
At uﬂus%l i&upil;ur}' constriction

B. ltisa hﬁgerglyccmi: hormone

C. It causes piloerection

D. It increases strength of heart contraction

Choose the correet answer from the options
given below :

(1) B, Cand D Only
(2) A, Cand D Only
(3) D Only

(4} Cand D Only

| Conitd..
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130

131

132

(1 Leucine & Lysing
2y Phenvialanine &
( ‘ m11lu1.. f'v'f,_.l.ELll::'lnc
(3} Phenylalanine &'ﬁ*‘gin‘
(4) Lysine & F'I.r‘gm:]l-lé -
Genes Rand Y Fﬂ!inﬁa—;ﬂ
IRRYY produce mi}ﬁgdepﬂﬂdfnt assortment,
produce wrinkled green
phenotypic ratio nflim: F2 peneration
(1} Phenotypic ratip - 3 . | =
(2) Phenotypic ratio- 9 ;3 .3, ]
(3) Phenotypic mtié‘;; 9.7 .
(4) Phenotypic ratig™~ | . 7 . |
"’l.'_i'p '

. &Y
Which r.:-frlhf: I"ul_!owtpg hormones released
from the pituitary is détually synthesized in th
hypothalamus 7 L ) )
(1) Anti-diuretic hormone (ADH)
(2) Follicle-stimulating hormone (FSH)
(3) Adenocorticotrophic hormone (ACTH)
(4) Luteinizing hanﬁ:?ne {LH)

=,

)
Given below are two statements © one is

labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : All Verebrates are chordates

but all chordates are not vertebrate.

Reason (R) : The members of subphylum

vertebrata possessimotochord during the

embryonic period, themotochord is replaced by

a cartilaginous or bomny vertebral column in

adults. w

In the light of the aht{v_;% statements, choose the

correct answer fmm;Lﬁu options given below:

(1) Both A and R are truc but R is not the
correct explanation of A

(2) A is true but R is false

(3) A is false but R is true

(4) Both A and R are true and R is the correct
explanation of A

46_English |
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Giiven below are two statements
Statement 1 ; Fig fruit is a non-vegetarian fruit
as it has enclosed [ig wasps in it.
Statement 11 : Fig wasp and fig tree exhibit
mutual relationship as fig wasp completes its
life cycle in fig fruit and fig fruit gets
pollinated by fig wasp. 3
In the light of the above statéments, choose the
most appropriate answer from the options
given below : 2
(1) Both statement | and statement [l
are incorrect 3
Sratement | is correctbat statement I
is incorrect k>
Statement | is incuneﬁ';but statement 11
is correct o
Bath statement | and statement 11

—t

are correcl o

2
(3)

(4)

Sweet potato and potato represent a certain
type of evolution. Select the correct
. Cile '
combination of terms to explain the evolution.
T}

(1) Homology. divergent i~
(2) Homology, convergent
(3) Analogy, divergent r;;
(4) Analogy, convergent @0

Which of the following :r_nJicmbes is NOT
involved in the preparation of household
products? O

A,
B.
C.
D.
E:

Choose the correct answer-from the options
given below:

(1) A and C only
(2) Cand D only
(3) Cand E only
(4) A and B only

Aspergillus niger 11
Lactobacillus 1
Trichoderma pol _}r.s';mrﬁiil'_i:
Saccharomyces cere w?g’fw
Propionibacterium .'i'h{'l?ﬁ?h‘mff

| Contd...
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130 Identifydhe part of o bio-reactor whic

v « piven [oure.
ns a foam broker from the given hig

is used

o

() B!
(3) C=

R

(2) D
(4) A

137 Name [;1:: class of enzyme that usually catalyze
the fhl{ﬂl.-ing reaction :
S-G+8" , 5+8%_G
Wh:re;j;; —*+ @ group other than hydrogen

S{— a substrate

e

S_ﬁ, — another substrage

<]

(2) Transferase

(4) Hydrolase

(1) Lyase
(3) Liggse
e |

138 Match List I with List 1 -
List 1 List 11
Chlorophyll a |, Yellow-green
Chldrophyll b 1],
Xanthophylls 1.

Yellow

Blue-green

L

C@tl-';tunnids IV, Yellow o
"

Ty Yellow-ora nge

Clmﬂsr:i:!rile option with al| correct matches,
(1) A-llL, B-1. C-II, D-1v
(2) A-l, B-11, C-1V, D-l1
(3) Al By, C-MI1, D-1i

(4) A-11, B-1V, C-11, p.|

46_Engligh
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139 The correct sequence of evengg
of bryophytes is..

140

141

A.
B.

C.

D.
E

Choose the correct
given below : 'O

In thye |irE 'L"l.-;_-l,c
Fusion of antherozoid wig, g
Attachment of gametophyte ¢,
substratum.
Rvductinn*'ﬂjvisiﬂn
spores. [
Formation of sporophyte,
Release ol antherozoids

1o produce hai-“ﬂiu

inlﬂ U,'H[Er_
answer from (he OPtions

(1) B,E,A, CiD {2) B, E, A, D, c
(3) D,E,A, BTC (4) D,E, A, C. R
Match List - I With List - 11,

List-1 . List - 11
A, Centromere L M itnch{'-ndrfun
B. Cilium N . Cell division
C. Cristae R . Cell Movemen,
D. Cell membrane v, Phospholipig

.. Bilayer

Choose the correct answer from

given below :

()

the Oplions

A-II, B-1, CH1V, D-111

(2) A-IV, B-l12@-111, D]

(3)
(4)

Find
AL

E.

Choose the correct answer from the options
given below -

(1)
(2)
(3)
(4

A-IL, B-11E C-1, D-1v
AL, B-IL, C-[II, D-1y

';L W
the correct statements :

In human ‘pregnancy. the major organ
Systems are formed gt the end of
12 weeks.

In human Pregnancy the major organ
Systems are formed at the end of 8 weeks,
In human [iﬁ';gnancy heart is formed after
onc month.of gestation.

In human Pregnancy, limbs and digits
develop by'the end of second month.

In human Pregnancy the appearance of

hair is usually observed in the fifth month.

a4

NAAAN

B and C Only
B.C.Dand E Only
AVC,Dand E Only
A and E Only

SRS
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I-'“?I.‘ of the following ¢y
. hl‘ngdm“ Proposed |y ::m“ !
the Tollowing in ingpeqeir Vh .
of body organization ,
A, Multicellular
v L.]Iul_i_lr:_hcturmmph ;
made of chitip, 5 With cell wall

B. Hewrolroghs w:

s lrﬁml? With tissue/org

ystem I::v:&_i. J'Jf'hu dy organ; 2an/organ
. Frﬂkﬂr}'ntaﬁ; MZation,

with cell
B W .
pelysaccharides ang amino ?1] 1. dmadc of
cids.

D. Eukaryotic™altotro
level of body orga
E. EuKaryotes
organization.

Ehs with tissue/organ
nization,

with l'.'-E”l_Ilar bﬂ-d}'

Choose the correct :
UI'I‘IEEt dns-\”i:

: r fro -
given below : m the options

() C.E.A. DB (2) A CED, B
(3) C EA, B‘j}j (4) A,C,E,B,D

Ly

Which are corrects

A. Computed 10mography and magnetic

IEaonanGy imaging detect cancers of
internal organs.

B. Chemotherapeutics drugs are used to kill
non-canceropus cells.

C. a -interf'i:rCEri;Tactivatu the cancer patients’

immune system and helps in destroying

the umour,

Chcmntherﬁﬁcutic drugs are biological

response modifiers.

E. In the case 6f leukaemia blood cell counts
are decreased.

the corregt answer from the options

D.

Choose e
given below: .

(1) Dand Eonly (2) C and D only

(3) AandC n:-?]f,i (4) B and D only
Which of the following genetically eng':r_tccrcd
organisms was uded by Eli Lilly to prepare
human insulin? ™"
(1) Yeast

(3) Phage

(2) Virus
(4) Bacterium

46_English |
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What is the pattern of inheritance for polygenic
Lrait?

(1) Non-mendelian inheritance pattern

(2) Autosomal dominant pattern

(3 X-Iink% recessive inheritance pattern

(4) Mendelian inheritance pattern

Which nl‘;:-tlhc following are the post-
transcriptional events in an eukaryotic cell?
A, Trﬂnsé_::li't of pre-mRNA to cytoplasm
prior to splicing.
B. Removal of introns and joining of exons.
¢. Addition of methyl group at 5" end of
hnRNA.”
. ﬁdditi@ﬁj’nfudcnine residues at 3" end of
lmRHﬂ:y
E. Base pairing of two complementary
RNAS. )
Choose the .correct answer from the options
given below
(1) B,C, D only () B,C,Eonly
(3) C.D.Eonly (4 A B, C only
£
Which UI‘IF.';!;.:{' the following phylohormones
promotes nutrient mobi lization which helps in
the delay of*leal senescence in plants?
(1 Ahsuiﬁg.’:l acid  (2) Gibberellin
(3) Cytokinin (4) Ethylene
I
Which one of the following statements refers
to Reductignist Biology”
(1) Physiolbgical approach to study and
understand living organisms.
(2) Chem:i‘%ﬁ! approach to study and
understand living organisms.
(3) Eeha{ri_éaurai approach to study and
understand living organisms.
(4) Ph},.*.*;'lt:lu-chcn!iual approach to study anc
understand living organisms.

| Contd..
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149 Aatch Lise < 0 with List - 1L

List = 11

Rapid spusms in musele

due 1o low Ca'" in

body Nuid

1. Angina Il Damaged alveolar
Pectoris ~walls and decreased

respiratory surface
Il. Acute chest pain when

Vst = |
A Emphysemn L

C. Glomerulp-

nephritis .nol enough oxveen
'is reaching to hean
muscle
D. Tetany IV. Inflammation of

glomeruli of kidney
Choose the correct answer from the options
given below : .
(1) A-1, B-1, C-1, H_r__.._..
(2) A-ll, B-1v, ﬂn:r D-1
(3) A-Il, B-111, C-1V, D-I
(4) A-lll, B-l, h.-u..h _u_-z

150 wu__...wﬁnm that are m.di.sm on a mango branch
i5 an example of which of the following?
(1) Mutualism (2) Predation
(3) Amensalism __c: Commensalism
151 Maich List I with .u.. I :
List-1 o List-11
A. Alfred Hershey oy |. Streptococcus
and Martha 'O pneumoniae
Chase r
B. Euchromatin L Densely packed
and dark-stained
C. Frederick = NI Loosely packed
Griffith 4 and light-stained
D. Heterochromatin - |v. DNA as genetic
1. _ material
_ confirmation
Choose the E.._.....n_. E_.w#ﬁ_. from the oplions
given below - -
(1) A-1v, B11, n._ D-1H
(2) A-IV, B-I, C-1, Dy
) AL B-1, Carv, oy
@ AL B, a1, puy
46_English |
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Which ehromosome in the _E::._.. fre

the highest number of Eeney
() Chromosome ¥

(2) Chromosome |

(3) _".,_:c:_s.._.ﬂ.i,:r. 1
(4) Chromosome X

"

What are the potential dras

% fvﬂ.ﬂrm H_.— .ﬂ-..‘ 5
of the IVF _._._ﬁ_—#ﬂﬁ_.w UMioy

A.  High fatality risk to mother

B. Expensive instruments ang renagents

C: :E_“E:n}....:n necessary for being donorg
D, Less mnc“__:a: ol orphans

E. Not E.&__m__.u“?. in India

F.

Possibility that the carly embryo doeg not
survive

—
Choose the correct answer from the options
given below ;

(1Y A, C,D, F, only
(2) A.B, n,_.._ only
(3) A B.C, r F only
(4) B, D, F brily

Lo

T

Match List - T with List - 17,

List - | List - 11
A. Head I Enzymes
B. Middle picce 11, Sperm motilits
C. A n_.mm.a:._ﬁ. HEL Energy
D. Tail n.__ IV. Genetic material

Choose the n_E...nn. answer from the options

given below 5

(1) A-1V, BIit, 11, Dy
(2) A-HI, B-1V, C-11, D-1
(3) A-1I, B-11, C-1, D-1V
(4) A-1V, B-111, C-1, D-I1

[ Contd..
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155
eprrect option

n bhelow « : . .
OW choose (he | 159 Which of the following statement is currect
about location of the male frog copulatory

A, The cukaryotic
3 .H:._m_.. rnbosomes are 80S pad?
prokaryotic ribosg and s 4 fimt
) mes are 708, (1) First digit of hin imh
B.  Each ribosome has two sub-ynit (2) Second digit of fore limb
) =Unis.

._-_..n:_.ﬁmcv-c._m._.m. mﬁmn_m_.ﬂna G.”._ﬂm::m_: i, __:M. _.En:_:_u
and 403 while that of 708 are M.“..w ”,n_p %%mm @) Firstand Second digi a:.ca_._a_u
D. The two sub-units of 805 ribosome are m_c.m“ |

=1 ~branous structure in a
and 208 and E.wwn.qq:m are $05 and 208 mempran

160 A specialised met
which helps in cell wall

prokaryotic cell

E. The twa sub-units of 80S are 60S and 308 formation, DNA replication and respiration is:
and that of 708 are 508 and 30S. (1) Chromatophores
(1) A, B, D are true (2) Cristae £

(3) Endoplasmic Reticulum

(3) B, D, E are true” (4) Mesosome  =F

(4) A, B, C are trug;

(2) A. B, E are true.

161 Given below are _éo statements :
Statement 1 : AE:.m.wnq RNAs and ribosomal
RMA do not interact-with mRNA.
Statement 11 : RNA interference (RNAT) takes

place in all eukaryolic organisms as a method

./..

"y

156 Which of the following is an example of non-
distilled alcoholic _ummmﬂmn produced by veast?

- m

3

(1) Brandy () B

3 R 2) nn._. of cellular defence,

el 4.1._%5 Whisky In the light of the above statements, choose the
o=t most wﬂ?ﬁﬁim»mﬂﬁ_mimq from the options

§

O |

given below :

157 Who is known as mmn father of Ecology in \
(1) Both Statement] and Statement 1l

India? \ 1
™ are Ineorrect 1

1} Ramdeo Misra: ~ at

(1 ,_u. (2) Statement | s ‘correct but Statement 11

(2) Ram Udar ¥ is incorrect

(3) Birbal Sahni Y (3) Statément | is.incorrect but Statement Il

(4) S.R. Kashyap Lo
~ (4) Both Statement 1 and Statement 1
- are correct *c,_._._.

158 In the seeds of ceréals, the outer covering of ¢ p

endosperm mm_um_.ﬁnm...m__._n embryo by a protein- | 162 What is the :E._.pn*..m,..w the blood vessel that
carries mnaxmmmnamm._ blood from the body to

rich layer called :
L i s o oy |

() Coléotiiza the heart in a frog ?
P Hqg (1) Pulmonary artery

& : (2) Pulmonary vein
(3) Aleurone layer (3) Vena cava
(4) Coleoptile (4) Aorta

27 | Contd...
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ad  Civen Belin are o stadements :
Statement 15 Iy the RNA wotld. [N 13
vonsadered the i penetic materinl "'"“hrd "
camy out essential life processes, RNA nets 88
A Eenein m.mrnl andd also as o cali 1lys! e
wome important bibehemical reactions in living
sastems, Reing rum!mc RNA is unstable.
Statement 11 ; I}NA cvolved from RNA and
15 4 more stable Ll.n:.lu. material, 15 double
helical strands hu..lnj., complementary. resist
changes by evolving repairing » mechanism.
In the light of the above statements, choose the
most appropriate answer from the options
given below @ 5 4
(1) Both Stnll:mi:lnll..l and statement [
are incorrectt )
(2) Statement | i orrect but statement 11
i5 incorrect ,Il
(3) Statement | i§ incorrect but statement 11
Is correct
(4) Both statement [ and statement 11
are correct "I
164  Which one nl‘the"lﬁ:l]nwing is an example of
ex-situ consf::rvutiu:::l?
(1) Wildlife San¢tuary
(2) Zoos and bu};;tical gardens
(3) Protected areas
{4) National F’:nrlk1
|
165 Which one ul'lhe!\fpllﬁwing Enzymes contains
‘Haem” as the prasthetic group?
(1) Carbonic anb}{dmsc
{2) Suceinate dlﬂ:lj-'dmgcnuse
(3) Catalase "
(4) KuBisCo

46_English |

28

16l

167

168

Ciiven below are the stages in the life Cyele
preridophytes. Arrange the Ini!ume Stages

(e correel sequence.

A.  Prothallus stage

3. Meiosis in :r-'.;illnrt: mother cells

E. E Ll'llll‘-'u"IUl.!ﬂ g

D. Formation of arCh"Eﬂ“'ﬂ and antherig;, . in
L.am::tuph}ru, !

E. Transfer ul"anthemzmdq 1o the “"“htgr,n

in presence; uf waler.
Choose the correct answer from the Options
given below :
(1) B,A,E.C,D
(2) D,E.C AB
(3) E.D,C B.A

(4) B,A,D, E@
Y
LT )
Which of following organisms canne; fix

nitrogen? 1
A. Azotobacter B. Oscillatoria
C., Anabaena D. [Ioivox
)

ee]
Choose the correct answer from the options

E. Nostoc

given below: 1-'1;;1
(1} D only :_{L-‘ (2) B only
(3) E only tl;:_-. (4) A only

While trying to E;!'id out the characteristic of a
newly found animal, a researcher did the
histology of adult-animal and observed a cavity
with presence of-mesodermal tissue towards
the body wall I::'E'i: ne mesodermal tissue was

observed towards the alimentary canal. What
could be the possj-Lle coelome of that animal?

(1) Pseudocoelomate
) |

(2) Schnzncueit‘:-:qmte

(3) Spongocoelomate

(4) Acoclomate

[ Contds
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Given below e
& lwo o
Wi Stemye gy, -
Statement 1 : |y o
¥ = W Haeal
'1. UrmL
G ”"‘.'I.‘.ln'u i
and O stands (op g
b : mlerior
Ovary,

T Stands fior
the

zyvpomorphie
Mower,

Statement 11 : [y |
1 ‘ In A-Moral formy
for actinomorphjg
T Nature
of

and G stands for st}ﬁurigr

i stands

the 1 ower
i ovary,
In the light of the above statery

correct answer f .
rnrp;lhe optio

(1

Ents, choose 1he
ns given below:
B{}T,I:l Statemer[hl and Statement [

are incorrect -

-

Sta‘ternenl Lis :‘?'-5"&[ but Statement |
i5 incorrect

(2)
Statement T s incorrect hyy
is correct v

(3)

Statement 11

(4) Both Statement | ang Statement I

are correct (23
i

E"‘-
Given below are tWd statements -

0o ]
Statement I : The~primary source of energy
in an ecosystem is‘S6lar energy,
Statement II : 'I?:hl:.a rate of production of
organic matter during photosynthesis in an
ecosystem is called net primary productivity
(NPP).
In the light of the aﬁgve statements, choose the

most appropriatesanswer from the options
(!

(=

given below :

(1) Both statement3l and statement 11
are incorrect r-l

(2) Statement I isrt?nrruct but statement 1l

is incorrect

(3) Statement I is incorrect but statement 1I

is correct

Both statement | and statement Il

(4)

are correcl
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Which of the following dingrams 1s correct
with regard 1o the proximal (F) and distal (13)
thule of the Mephron.

r D
) NI 1.0 L“”:

cad -

(1)
F o
.l |.'|'_‘c|. |'LI|‘D %1{:':_'!;
(2) :
|
P . D
MaCl HCO] TN".Cl NEH,
- ’J"J
Eif\zj;\’\ m::-
P o
T owa MeQHO HOCE
(4)

H* HO "Im
1

Ll

172 Streptokinase p:r_gi‘t_'duced by bacterinm

Streptococcus is used for

(1) Ethanol prudu:cti_an

(2) Liver disease treatment

(3) Removing clots from hlood vessels
(4) Curd production

¥

173 Cardiac activities of the heart are regulated by

A. Nodal tissue .,

B. A special neural centre in the medulla
oblongata L

C. Adrenal medullary hormones
D. Adrenal cortical hormanes

Choose the correct answer from the options
given below :

(1) A,B,Cand D

(2) A, Cand D Only
(3) A, B and D Only
(4) A, Band C Only

| Contd...
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i) ciptements (e 1

5 i A1 i
Giyen/belaw A7 (A) Jll'lil the pther 15

Ialsetliod ns Asseriiom
labselled as Reasol (R

vascrtion (A) L A Lypien
mbryo sac al B

174

I ||nl‘L-|'lrIr:<-.'-:I,
yaturity 1%
anginsperm ¢
% nueleate and ?-i':l,'l:]:_‘d,

atus 2 polar
Reason (R) @ Theegg apparatus has 2 po

nuclel. |
In the light of the above sta :
correet answer from the options given
true but R is NOT the

tements, choose the
helow:

(1) Both Aand l-:'ﬁ', are
correct explanation of A

(2) A is true but'R is false

(1) A is lalse huf'i;i is true

(4) Both Aand R afc rrue and R 1s the correct
explanation of-A

Find the slmumcn.t that is NOT correct with
regard to the structure of monocot stem.

(1} Vascular bundles are scattered.

(2) Vascular bundies are conjoint and closed.
(3) Phloem pnreric:l_l}fma is absent.

(4) Hypodermis is parenchymatous.

Given below are "t:wn statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Both wind and water
pollinated flowers are not very colourful and
do not produce nectar.

Reason (R) : The flowers produce enormous
amount of pollen grains in wind and water
pollinated Nowers, ;

176

In the light of the above statements, choose the
correct answer frnni the options given below:

(1) Both A and R are true but R is NOT the
correct explanation of A

(2) Aistrue bul R is false
(3) A s false but R is true

(4) Both A and R are true and R
explanation of A

is the correct
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177 Neoplastic charaeteristics of cellg
¢

178

179

180

N tle
A A mass of proliferating cell F iy

B.  Rapid growth 'of cells

C. Invasion and d:unugu

10 the g
" . ‘l
tissue LT

I'ltli"U
D. Those confined 1o ariginal locats
: ation

Choose the correct answer from the
" s ‘ =
given below: Pliop,

(1) A;B,Conly " (2) A. B, D only
(3) B.C.Donly ' (4) A.B only
The cnmplczf Il of mitochondrial electrgy,
transport chain is-also known as

(1) Succinate dcﬁgﬁmgcnasc

(2) Cyiochrome ¢ oxidase

(3) NADH dehydrogenase

(4) Cytochrome be,

Polymerase chai_n'rcaction (PCR) amplifies
DNA following the equation.

(1) 2" ‘4 2) 2n+ |
(3) 2n2 o () N2
BamH| Tet R

EcoRl
B Galactosidase

amp

In the above repré:i:éntt:d plasmid an alien piece
of DNA is inserted IEH EcoRI site. Which of the
following strategies will be chosen to select the
recombinant colonies?

(1) Blue color colonies will be selected.

(2) White color colonies will be selected.
(3) Blue color colonies grown on ampicillin
plates can be selected. N
Using ampicillin & tetracvelin containing
medium plate.

(4)
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